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Turn-on time ton 2 0.35] 12 |Vcc=600V HS
tr - /0.25] 0.6 * |ic=200A
tefi) — 0.1 - \] Vee=£15V

Turn-off time tatt = \0_45 1.0 / Re=4.7 ohm
t — 0:08

B 1. R SEBERBRMIMZER: (Tj=25C)

Switching time vs. Collector current (typ.)
Vec=600V, VGE=+15V, Rg= 4.7ohm, Tj= 25°C
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Switching time vs. Collector current (typ.)

i Wee=600V, VGE=+15V, Rg= 4.7ohm, Tj= 125°C
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Switching time vs. Gate resistance (typ.)
Weec=B00V, Ic=200A, VGE=+15V, Tj= 25°C
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B2 IA 1L E A B : RG=4.7, VCE=600V, VGE=415V

& 1 A %0: Ton=0.3us  Toff=0.48us

& 2 A[41: Ton=0.32us  Toff=0. 59us

FrLL:  TD=Toff (max)—-Ton (min)=0. 59-0. 30=0. 29us
Z SR Aoy e FRATTRE 20%01) 35 25 1
M:  TD” =0.29%1. 2=0. 35us
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